| dE/dx estimator 1 |

0.25

0.2

0.15

0.1

=
¢

...............................................

Entries
Mean
Std Dev

537306
2.462
1.651

Entries
Mean
Std Dev

532101
2.458
1.653

.........................................................................

o
[

0.25}

0.15¢

0.1k

0.05

Ratiq
&

0.2}

778 9 10

dE/dx, harm?2

| dE/dx estimator 2 |

0.25

0.2

0.15

Entries
Mean

Std Dev

537306
2.351
1.625

Mean

Entries

Std Dev

532101
2.345
1.624

T T 1 1
Py

o

12345678910

dE/dx, trunc40

—=— DQM_CKF_TTbase

— DQM CKF_TT retrainOldFiles125_v2_prelimWPM_ epoch2

10

50 30 40 50 60 70 80

dE/dx number of measurements

0.95%

0

537306

10 20 30 40 50 60 70 80

E Mean 5.134 0 8: ______________________________________ :_ Mean 0.2297
! |Std Dev 5.543 -OF : : : : I’|_Std Dev 0.55
"""""""""""""""""""""""""" " TEntries 532101 0.7Bieembebi b i Entries 532101
¢ | Mean 5.164 : ' [ Mean 0.2294
: | Std Dev 5.562 : : [ Std Dev 0.5499
___________________________________________________ O S S R AR SRR
05 ......................................................................
; [ S S T RITIEER
P P 00 s S S S S AR
1 O.2H -t ]
‘_' 01_ L
!:....:....: [ T P P oL-uOt P IV P U IS I
A = L[l
:_ < L
'.t- 4 .- ‘ aar
l:{ l:_Tl """""""""""""""""""""""""""""""
¢ F {
0

dE/dx number of measurements with saturation




	Contents
	Page 1


